F] SH BO N Eé(\/;‘ﬁ%‘?& INSTALLATION INSTRUCTIONS

OFFROAD
2 el

PART No. FB21074

Jeep® TJ Wrangler
Rear Bumper Tie-in Brackets

VIDED AVAILABLE

Passenger side Driver side

Designed to allow access to the OEM body mount bolts!

REQUIRED TOOLS KIT CONTAINS Qry
Socket set Brackets (Left and Right) lea
15mm box end wrench M10 Stainless hex bolt 8
Tape - optional M10 Stainless flange nut 8
M10 Stainless flat washer 8
NOTE: On one side of your rear bumper, remove the outer
It is assumed these brackets will be installed on an most bolts. These will be replaced with the hardware
aftermarket bumper and the OEM bumper has provided.

already been removed and new bumper installed.

1) INSTALL BRACKETS
The brackets must be installed on the correct side for
proper fit. Please ensure you use the correct bracket
on the correct side.

2107400

950 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



OFFROAD PART Ne. FB21074

Jeep® TJ Wrangler
Rear Bumper Tie-in Brackets

F] SH BO N E ;‘ﬁ?&‘?& INSTALLATION INSTRUCTIONS
7) e

Loosely install the bracket to the rear crossmember
using 2 M10 bolts, 2 washers and 2 serrated nuts.

Utilizing the factory hole locations in the frame of the
jeep, insert a bolt and washer through the top hole
of the bracket and into the frame.

Tighten all hardware for this side.
2) REPEAT STEPS FOR THE OPPOSITE SIDE BRACKET

3) ENJOY YOUR NEW FISHBONE OFFROAD TIE-IN
BRACKETS!

Using a 15mm box end wrench, place the serrated
nut in the closed end part of the wrench. TIP: Use a
piece of tape to hold the nut in place.

Reach the nut into the frame through large opening
in the bottom. Move the bolt around until you are
able to thread the nut on the bolt. Once the
tightening process has started, the serrated part of
the nut will hold itself in place while you tighten.
Repeat these steps for the lower hole.

2107400

950 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



